EARAROBREBRT —5 XN—ZXBISH—F

20225 11817H (A) 180IEH6H

W C3— USR3IF/LE BN R
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
(237N : -1-1- - FHEX (EH)
11111 | 2Fr=029% 33 e 1.(3_2).5 1-1-1-1 | 40.5 1 fzg)z i
R:aAN/UwF— BIILTIVH SIERUS
< JIRE— : -4-3- - aFES (EH)
N REZPECEEY, B4 i 1.(333).0 3-4-3-2 | 40.7 5 zt_o; m:&tgz&
R:T—ILRI—X 8Ky MNI—RS LA RIS
— _ s ez : -10-7- - TRE¥Z (EA
3 3| F47TE=RSY v 6 | HbF 1.(333).5 10-10-7-7 | 40.6 4 (4_632) i (BB
RNy vH—)b :033F vV RV Gillke]
- N mEE= 3. 3-4- 2| - EEIEX @D
N . RESPEL L "3RS Gy | s a2 T s
RiZvF—TAI BRZNFTFv VR %3 L HEMBS
— e RSN s 4 | EEM 1:34.0 2-2-2-4 | 41.9| - 2 550 | ERsToHE (k)
518|110/ =2—bh3ILY—=Y 56.0 ) -9) FF it
RiNA0 BTV S—L—- Vv XY - T7—LERE
= = 4 3 | SNEF 1:34.1 6-5-5-5 | 41.7 | — 6 444 | EREHRSL (EH)
EH 6| 7—313 5.0 oe) @3 |LO#mn
RiRoSXVF B:RFNTa—LA BREME KIERT—TIL
)T 5 4 4 | EMEEE— 1:34.2 9-9-8-6 | 41.3| — 8 453 | EBAE— (FEkR)
71718 L7277 54.0 (3/4) () |18 F—WTPRZMES
RIRTVFULY BATZVIF7IL7 EFERAI YR
== t 6 | AEE 1:34.8 8-8-10-10 | 41.7 | — 9 48 | BNSFE (EH)
8|5/5|/ 7797 ! #53.0 31/2) @) |8 FLERZMEE
RNV /RSA4Y B:aVITIYRYF ) | | ERHE
BB 1:35.2 -6-6-8 | 42.7 | — )&t (EH)
97| 7|FVLT LT "] 5k oy | T P ke
RFVIARZN B:U—RZMSIL SWI7—Lh
tv 3 | BE#T 1:36.6 7-7-9-9 |43.9| — 10 464 | BMEGE (FERR)
Eﬂ 4 |FwOL 5.0 ® o | xEHRE
RIIET7XRAT7 B:Ivh—+ /=Y Tr—1I
@ 11— —BERIEI
13—7F— 1,10,9,2,7,6,4,5,8,3
20— — 1,10,2,9,6,7,4,5,8,3
JOl=gr= 1,10,9,2,6,7,3,8,4,5
41—+ — 1,9,2,10,6,8,3,7,4,5
0 ILRE
BB 1 220/ JA R 1-9 360 & 1-8 390M 3ER 1-3-9 1,430
B B 1 110 1-3 340M4 5 & 1-9 1,220 3Es 11==2! 5,860
9 2004 3-9 660M oS- 1 1-9 1,540
3 180M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




